FETORERERURER SRER K
($H174%£3A3AHE)

ER Rl (* [F2 0D BRERICFE -2 Ki) BREY
1 ErR BFERE ke 3,981
2 EHME 3,231
3 EE[FHNEND]  HITE 3,677
4 wE BEHTEYeSLESHED] 4,662
5 MEET PR 4,836
6 REET  J\EREET 4,254
7 AGERIKYESD2#] YBETE 3,530
8 FRAR HES 3,495
9 SEET  ALIBET 2,726
10 XA HEARET  EET AE EET thE BB BA BAKE \FRE 7,125
11 ERET  FET EORT  EHRET 5,437
12 %3, 4TE HE3TEH $RETHE 5918
13 BAGET SRET AIAET  RKET 8,037
14 B9 IEET  ERE 3,817
15 FIE1~4TH 3,546
16 LEE kyE PR TESTH 5,383
17 WET ELTRE[ALLSHREL] ELRE 3,115
18 ME1~4TH 4,250
19 #HEx1, 2TH *HR2THA(16~26%) 4,246
20 KR #E $FE1TE *HR2TH(1~15%) 4,014
21 HHhE1, 2TH 4,030
22 BE+1~4TH 3,061
23 7E/\IE1~4TH 3,538
24 H/\IB1~5TH 4,004
25 me=E3~6THE *BRELT2TH(1~4%) 5,304
26 me=7TH MBE#1~3TH, 5TH, 7TH 6,052
27 K#1~9TH & 4,405
28 * {EA (3057F . 3068%F . 3130Fh. 3227 ~3236Fih. 3773F M LIIE) 2,786
29 K& WFlxEECs] MEE TE 3,249
30 [dtEE Z@EITHMA ZE/MVME ZATEF ZEXH ZEET RZHE FE2H| 4,503
31 e AFLO] FEBE EEFE AR 8,596
32 EE  #E(FEV) 9,063
33 Ei#1~3TH KHHE1~3TH 5,089
34 HiE & 4,133
35 AFCE] B@EM1-2TH 5,034
36 FER THER O<CHARE1-2TH 3,505
37 tE 2,041




FETORERERURER SRER K
($H174%£3A3AHE)

BRE Rig (* [F20DFERERICFHE A DR ) EHER
38 * FE(1033~1061%&th) FEB(EATY] BLE 3,722
39 * B (1033~1061F%KB<)  H 4,873
40 €8 ILt&£B1~4TH EH EH1~4TH 6,287
41 5 6,110
42 H#f4, 6, 8, 9TH 2,947
43 IWT™1~3TH 6,198
44 * fN (3057%Ftth, 3068F i, 3130F M. 3227 ~3236%F i, 3773FHh LIFERK) 3,669
45 AN RIRE[RENE] 4,629
46 SLAE1, 2TH 1,767
47 mz=E1, 2TH 4,166
48 REL1~4TE(*REL2TH1~4FZKRS 4,994

217,035




